	BID RESULTS		
	CK09MERCER2018-35 SECURITY SYSTEMS INSTALLATIO	N,MAINTENANCE,SERVICE AND REPAIR	
	BID OPENING DATE: NOVEN	BER 14, 2018	
AWARD TWO YEARS; DEFINED RATES AND 10% MARK- UP ON MATERIALS; ONE YEAR WARRANTY			
BIDDERS	3		
NAME OF BIDDER	ABSOLUTE PROTECTIVE SYSTEMS, INC.	J III ELECTRONICS, INC.	MAIN ACCESS SYSTEMS, INC.
ADDRESS	3 KELLOGG COURT, UNIT 13	25359 MT. PLEASANT ROAD	9 PRINCESS RD, STE J
CITY, STATE, ZIP	EDISON, NJ 08817	COLUMBUS, NJ 08022	LAWRENCEVILLE, NJ 08648
CONTACT	PAUL SMOLEY, PRESIDENT	HERBERT J. ECCLES III	WALT KONESKI
TELEPHONE	732,287,4500	609.947.5780	609.394.4900
FAX	732,287,4502	609.291.0974	609.394.4901
E-MAIL	PAUL@ABSPS.COM	J3ELECTRONICS@VERIZON.NET	DGOLA@MAINACCESSINC.COM
EXTEND TO COOPERATIVE MEMBERS	YES	YES	YES
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
INSURANCE REQUIRED FROM VENDOR	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK
PUBLIC WORKS CONTRACTOR REGISTRATION	50307 EXPIRES 5.14.20	616341 EXPIRES 2.13.19	605644 EXPIRES 6.13.20
STOCKHOLDER DISCLOSURE CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
SUB-PRIME CONTRACTOR	IN-HOUSE	EMGEN ELECTRICAL SERVICES, LLC	IN-HOUSE
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
AFFIRMATIVE ACTION COMPLIANCE NOTICE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EIC	11861 EXPIRES 8.15.20	32878 EXPIRES 8.15.24	11861 EXPIRES 8.15.20
PREVAILING WAGE CERTIFICATION	OK	OK	OK
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES
THREE REFERENCES	INCLUDED	INCLUDED	INCLUDED
5 YEARS EXPERIENCE	YES	YES	YES
CERTIFICATION OF EQUIPMENT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
SAFETY PROGRAM CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
AUTHORIZED DEALER:	BOSCH, RADIONICS, SILENT KNIGHT, FARENHYT, PYRO CHEM, RANGE GUARD, NAPCO, ADEMCO (SEE ATTACHED CERTIFICATIONS)	ADEMCO, NAPCO, SILENT KNIGHT, SYSTEM SENSOR, ESL, HONEYWELL	PANASONIC VIDEO SURVEILLANCE, KERI SYSTEMS, RS2 TECHNOLOGY, HIKVISION
LICENSES(S) BURGLAR	IN-HOUSE LICENSE#: 34BF00003200 EXPIRES 1.31.20	BURGLAR ALARM LICENSE #34BA00098000 EXPIRES 8.31.19 - FIRE ALARM 34FA00081300 EXPIRES 8.31.19; (HERBERT J. ECCLES III)	IN-HOUSE LICENSE# 34BX00020400 EXPIRES 1.31.20
LICENSES (S) ELECTRICAL	LICENSE#: 34EB01411800 EXPIRES 3.31.21	EMGEN ELECTRICAL SERVICES, LLC LICENSE#34EB01475400 EXPIRES 3.31.21 PWC- 661900 EXPIRES 11.05.19	MERIDIAN PROPERTY SERVICES LICENSE#: 34EB01063700 EXPIRES 3.31.21, BRC: OK; PWC- 623841 EXPIRES 9.30.19
EXCEPTIONS	NONE	NONE	NONE
FATAL FLAW	NO	NO NO	NO
HOURLY RATE	\$85.00	\$90.00	\$118.00

		BID RESULTS				
CK09MERCER2018-37 COUNTY FACILITIES AND SYSTEMS REPAIR FO		ER COUNTY COOPERATIVE CONTRACT PURCHASIN	NG SYSTEM FOR A PERIOD OF ONE (1) YE	EAR WITH THE OPTION TO EXTEND TWO (2) YEARS		
	BID O	PENING DATE: NOVEMBER 15, 2018				
NUMBER OF RESPONDENTS	4					
NAME OF BIDDER	GOLDEN CROWN CONTRACTORS, INC.	GMH ASSOCIATES OF AMERICA, INC.	J.H. WILLIAMS ENTERPRISES, INC.	RICASOLI & SANTIN CONTRACTING CO., INC.		
ADDRESS	4099 SOUTH BROAD STREET	5 CHELTEN WAY BLG 15	231 HAINES DR	4 FERNDALE AVENUE		
CITY, STATE, ZIP	YARDVILLE, NJ 08620	TRENTON, NJ	MOORESTOWN, NJ 08057	MERCERVILLE, NJ 08619		
CONTACT	CHRISTINE LUIZZIA-MCGUIRE	ANTHONY GENNIRD	JAMES H. WILLIAMS	ROBERT HEARN JR.		
TELEPHONE	609 585 0265	609 396 4751	856 793 7114	609 588 9539		
FAX	609 585 2775	609 396 1067	856 222 0017	609 588 6848		
E-MAIL	GOLDENCROWN1978@VERIZON.NET	CUSTOMERSERVICE1GMH@GMHASSOCIATES.COM	BW@JHWILLIAMSINC.COM	BOBHEARNJR@YAHOO.COM /_ R_SCONTRACTING@VERIZON.NET		
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
EXTEND TO COOP	YES	YES	YES	YES		
EIC	27734 EXPIRES 12.15.20	26111 EXPIRES 02.15.20	54063 EXPIRES 02.15.22	NOT INCLUDED		
BID BOND	THE SERVICE INSURANCE COMPANY INC., 10% NTE 20K	BONDEX INSURANCE COMPANY 10% NTE 20K	WESTERN SURETY COMPANY 10% NTE 20K	NORTH AMERICAN SPECIALTY INSURANCE COMPANY 10% NTE 20K		
CONSENT OF SURETY	MICHELE A. DERY AIF WITH POA	JACLYN MURPHY AIF WITH POA	RICHARD K. STRONG AIF WITH POA	WILLIAM L. RUSHTON AIF WITH POA		
THREE REFERENCES AND FIVE YEARS EXPERIENCE	INCLUDED B&G TO REVIEW	INCLUDED B&G TO REVIEW	INCLUDED B&G TO REVIEW	INCLUDED B&G TO REVIEW		
NUMBER OF YEARS IN BUSINESS AND NUMBER OF EMPLOYEES	40 YEARS, 12	30+ YEARS, 15-20	48 YEARS, 20	34 YEARS, 15- 20		
ESTIMATING SOFTWARE	RS MEANS	REQUIRED IF AWARDED	RS MEANS	YES		
PW CONTRACTOR REGISTRATION	603521 EXPIRES 3.31.20	615080 EXPIRES 9.14.19	20496 EXPIRES 11.19.19	603759 EXPIRES 2.26.20		
ELECTRICAL/HIGH VOLTAGE ELECTRICAL LICENSE IF APPLICABLE	34EB00825500 EXPIRES 03.31.21	34EI01100600 EXPIRES 03.31.18	M.R. ELECTRIC, LLC 675583 EXPIRES 02.28.19	34EB00825500 EXPIRES 03.31.21		
PLUMBING LICENSE IF APPLICABLE	609932 EXPIRES 04.06.19	36BI01248100 EXPIRES 06.30.19	PJM MECHANICAL CONTRACTORS, INC. EXPIRES 05.02.20	36BI01174500 EXPIRES 06.30.19		
ASBESTOS ABATEMENT LICENSE IF APPLICABLE	NOT INCLUDED	00676 EXPIRES 09.29.19	NOT INCLUDED	NOT INCLUDED		
LEAD ABATEMENT LICENSE IF APPLICABLE	NOT INCLUDED	NOT INCLUDED	NOT INCLUDED	NOT INCLUDED		
MOLD REMEDIATION CERTIFICATIONS IF APPLICABLE	NOT INCLUDED	NOT INCLUDED	NOT INCLUDED	JEFFREY D. DIPANO, 19HC00075000 EXPIRE 6.30.20		
DEBARRED	МО	NO	NO	NO		
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK		
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK		
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
PREVAILING WAGE CERT	603521 EXPIRES 3.31.20	615080 EXPIRES 9.14.19	20496 EXPIRES 11.19.19	603759 EXPIRES 2.26.20		
EQUIPMENT CERT	OK	OK	OK	OK		
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
EXTEND BEYOND 60 DAYS	NO	YES	YES	YES		
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
exceptions	NONE	WILL CHARGE FOR BID BOND, EQUIPMENT AND QUOTES PREPARED PER MANPOWER HOWR OF TRADE, TRAFFIC CONTROL RATE \$250.00 PER HOUR	NONE	NONE		
FATAL FLAW	NO	NO NO	NO	NO		

CK09MERCER2018-35 COUNTY SYSTEMS AND FACILITIES REPAIR FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM FOR A PERIOD OF ONE (1) YEAR WITH THE OPTION TO EXTEND TWO (2) YEARS BASED UPON THE INDEX RATE

THE COUNTY WILL AWARD TWO CONTRACTS TO A GENERAL CONTRACTING BUSINESS BASED UPON THE GRAND TOTAL AMOUNT FOR CARPENTRY, LABORER, IRON WORK, WELDING, EQUIPMENT OPERATOR, GLAZING, FENCING. BIDDERS SHALL BID ON ALL TRADES FOR THIS CATEGORY.

		GOLDEN CROW	N CON	TRACTORS	GMH ASSOCIA	TES NC.	OF AMERICA,	J.H. WILLIAMS ENT	ERPR	SES, INC.	RICASC	DLI SA	NTIN
TRADE DISCIPLINE	ESTIMATED NUMBER OF HOURS	INSERT HOURLY RATE		TOTAL	INSERT HOURLY RATE		TOTAL	INSERT HOURLY RATE		TOTAL	INSERT HOURLY RATE		TOTAL
CARPENTER	200		\$	22,150.00	\$ 140.00	\$	28,000.00	\$ 120.00	\$	24,000.00	\$ 114.00	\$	22,800.00
LABORER CLASS A	600	\$ 92.37	\$	55,422.00	\$ 110.00	\$	66,000.00	\$ 98.00	\$	58,800.00	\$ 90.00	\$	54,000.00
IRON WORKER	200	\$ 132.00	\$	26,400.00	\$ 135.00	\$	27,000.00	\$ 180.00	\$	36,000.00	\$ 135.00	\$	27,000.00
WELDER	100	\$ 132.00	\$	13,200.00	\$ 154.00	\$	15,400.00	\$ 180.00	\$	18,000.00	\$ 135.00	\$	13,500.00
EQUIPMENT OPERATOR	200	\$ 117.97	\$	23,594.00	\$ 154.00	\$	30,800.00	\$ 135.00	\$	27,000.00	\$ 124.00	\$	24,800.00
GLAZIER (WINDOWS)	200	\$ 123.50	\$	24,700.00	\$ 154.00	\$	30,800.00	\$ 130.00	\$	26,000.00	\$ 130.00	\$	26,000.00
ALL FENCING INCLUDING WOOD, CHAIN LINK, ALUMINUM OR PVC	200	\$ 115.00	\$	23,000.00	\$ 154.00	\$	30,800.00	\$ 125.00	\$	25,000.00	\$ 114.00	\$	22,800.00
MATERIAL ALLOWANCE			\$	200,000.00		\$	200,000.00		\$	200,000.00		\$	200,000.00
GRAND TOTAL BID			\$	388,466.00		\$	428,800.00		\$	414,800.00		\$	390,900.00
ELECTRICIAN	600	\$ 142.56		85,536.00	\$ 135.00	_	81,000.00	\$ 130.00	\$	78,000.00	\$ 146.00	\$	87,600.00
MATERIAL ALLOWANCE FOR ABOVE	1	<u> </u>	\$	10,000.00		\$	10,000.00		\$	10,000.00	1	\$	10,000.00
TOTAL BID			\$	95,536.00		\$	91,000.00		\$	88,000.00		\$	97,600.00
HIGH VOLTAGE ELECTRICIAN	300	\$ 142.56	\$	42,768.00	NO BID	1-		NO BID	-		\$ 250.00	\$	75,000,00
MATERIAL ALLOWANCE FOR ABOVE	-	7	\$	10,000.00		\$	10,000.00		\$	10,000.00		\$	10,000.00
TOTAL BID			\$	52,768.00		\$	10,000.00		\$	10,000.00		\$	85,000.00
PAINTER	400	\$ 110.00	\$	44,000.00	\$ 115.00	\$	46,000.00	\$ 108.00	\$	43,200.00	\$ 112.00	\$	44,800.00
MATERIAL ALLOWANCE FOR ABOVE		,	\$	10,000.00	,	\$	10,000.00	,	\$	10,000.00		\$	10,000.00
TOTAL BID			\$	54,000.00		\$	56,000.00		\$	53,200.00		\$	54,800.00
CEMENT MASON	800	\$ 116.00	\$	92,800.00	\$ 115.00	\$	92,000.00	\$ 120.00	\$	96,000.00	\$ 114.00	\$	91,200.00
MATERIAL ALLOWANCE FOR ABOVE		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$	10,000.00	7	\$	10,000.00	7 .=====	\$	10,000.00		\$	10,000.00
TOTAL BID			\$	102,800.00		\$	102,000.00		\$	106,000.00		\$	101,200.00
PLUMBER/PIPEFITTER	600	\$ 145.00	\$	87,000.00	NO BID	-		\$ 135.00	\$	81,000.00	\$ 145.00	\$	87,000.00
MATERIAL ALLOWANCE FOR ABOVE			\$	10,000.00		\$	10,000.00		\$	10,000.00		\$	10,000.00
TOTAL BID			\$	97,000.00		\$	10,000.00		\$	91,000.00		\$	97,000.00
HOURLY RATE: <b>ASBESTOS</b> REMEDIATION AND ABATEMENT UNDER DIRECTION OF COUNTY	100	\$ 178.20	\$	17,820.00	\$ 169.95	\$	16,995.00	\$ 150.00	\$	15,000.00	\$ 160.00	\$	16,000.00
CONTRACTED ENGINEERING FIRM MATERIAL ALLOWANCE FOR ABOVE			\$	10,000,00		\$	10.000.00		\$	10,000.00		\$	10.000.00
TOTAL BID	-		\$	27,820.00		\$	26,995.00		\$	25,000.00	1	\$	26,000.00
HOURING DATE LEAD REVENIATION AND 12 TELEST													
HOURLY RATE: <b>LEAD</b> REMEDIATION AND ABATEMENT UNDER DIRECTION OF COUNTY CONTRACTED ENGINEERING FIRM	100	\$ 192.50	\$	19,250.00	NO BID	-		\$ 150.00	\$	15,000.00	\$ 160.00	\$	16,000.00
MATERIAL ALLOWANCE FOR ABOVE			\$	10,000.00		\$	10,000.00		\$	10,000.00		\$	10,000.00
TOTAL BID			\$	29,250.00		\$	10,000.00		\$	25,000.00		\$	26,000.00
HOURLY RATE: <b>MOLD</b> REMEDIATION AND ABATEMENT						H							
UNDER DIRECTION OF COUNTY CONTRACTED ENGINEERING FIRM	100	\$ 178.20	\$	17,820.00	\$ 169.95	\$	16,995.00	\$ 150.00	\$	15,000.00	\$ 160.00	\$	16,000.00
MATERIAL ALLOWANCE FOR ABOVE	_		\$	10,000.00		\$	10,000.00		\$	10,000.00	1	\$	10,000.00
TOTAL BID			\$	27,820.00		\$	26,995.00		\$	25,000.00	<u> </u>	\$	26,000.00

## PROPOSAL RESULTS

## CC2018-10 REAL ESTATE APPRAISAL SERVICES FOR THE COUNTY OF MERCER

## PROPOSAL OPENING: NOVEMBER 16,2018

NO. OF RESPONDENTS:	4					
NAME OF RESPONDENT	WADE APPRAISAL, LLC	TOM RODRIGUEZ ASSOCIATES	RONALD A. CURINI APPRAISALS CO., INC.	STERLING DISANTO & ASSOCIATES, LLC		
ADDRESS	460 MAIN STREET	74 LAMBERT ROAD	1540 KUSER ROAD, A-7	145 WEST END AVENUE		
CITY, STATE, ZIP	METUCHEN, NJ 08840	STOCKTON, NJ 08559	HAMILTON, NJ 08610	SOMERVILLE, NJ 08876		
CONTACT	GARY M. WADE	THOMAS RODRIGUEZ	JOHN R.WEBER JR.	VICTOR D. DISANTO		
TELEPHONE	732.204.6445	908.788.5543	609 586 3504	908 526 4244		
FAX	732.204.6445	908.788.6881	609 586 3504	N/A		
E-MAIL	GWADE@WADEAPPRAISAL.NET	TOMROD5543@COMCAST.NET	CURINC@AOL.COM	ADVISORS@SDADVISORS.COM		
INSURANCE CERT.	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR		
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
NEW JERSEY BUSINESS REGISTRATION	OK	OK	ОК	OK		
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
EXHIBIT A	REQUIRED IF AWARDED	INCLUDED	INCLUDED	INCLUDED		
EIC	REQUIRED IF AWARDED	25083 EXPIRES 6.15.19	11111 EXPIRES 6.15.20	32647 EXPIRES 7.15.23		
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES		
CONTINUITY OF SERVICE	YES	YES	YES	YES		
NON-COLLUSION AFFIDAVIT	NOT INCLUDED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
EXECUTIVE SUMMARY/EXPERIENCE (TO INCLUDE KEY PERSONNEL)	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
LICENSES/CERTIFICATIONS REQUIRED	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
FEE SCHEDULE	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
SAMPLE OF SADC EASEMENT PURCHASE APPRAISAL	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
exceptions	NONE	NONE	NONE	NONE		
FATAL FLAW	YES, NON-COLLUSION AFFIDAVIT NOT INCLUDED	NO	NO NO			